
Evaluating the OCL constraints and visualization of the results

The instances related to the constraints own the _OK suffix, while the others have the _KO suffix: 

 
Figure 11. The generated object diagrams 

  
 
 
Let us take a closer look at two instances. 

In Figure 12, we can see that the instance respects the constraint of the User class. Indeed, the user identified as userT6D owns the contractQYR 
contract, and he is not employee of an associated company (no association with an instance of the Company type). 

 
Figure 12. Instance that respects the constraint 

  

Larger view of Figure 12. 

On the contrary, we can see that the instance in Figure 13 does not respect the constraint, because one of the users is an employee of the company 
(companyJ5U) and has the subscription contract (contract61D) with the library. 

 
Figure 13. Instance not respecting the constraint 
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